CODIGO DE
MATERIAL

ID MATERIAL
FUERA DE

bidbit

SUBASTAS ONLINE

Repuestos Kalmar Ottawa - Estanteria 67

DESCRIPCION

NUMERO DE
PARTE

MARCA

CANTIDAD

273300003027 CATAOGO TRU-OTT-COMANDO 50-EN-3933434 FLEXPLATE (CORONA + 3933434 CUMMINS 1
273300007896 - FER-ROD-22211E RODAMIENTO SKF - - 3
273300002953 - 3929005 ASIENTO DE VALVULA CUMMINS 6CTA 3929005 CUMMINS 4
273300002938 - 3802085 KIT VALVULA DE ESCAPE CUMMINS 6CTA 3802085 CUMMINS 1
273300301670 - CORREA DE ALTERNADOR 2235178 DEUTZ 1
273300303439 - GASKET REAR COVER 3901734 CUMMINS 1
- 77242 RING SET 3802110 CUMMINS 4
- 77241 VARILLA NIVEL DE ACEITE 3357062 CUMMINS 1
273300003031 - TEN2536 TENSOR DE CORREA MOTOR CUMMINS TEN2536 CUMMINS 6
273300009557 - TRU-OTT-COMANDO-50-ES-PER2661-01 PERNO ELASTICO PER2661 - 24
273300321212 - TRU-OTT-COMMANDO 50-EN-53543821 DIPSTICK TRANS MT 53543821 KALMAR 1
- 77244 INYECTOR DE COMBUSTIBLE - - 6
273300302133 - 3914304 GASKET COVER PLATE CUMMINS 6CTA8.3 CPL 3939258 CUMMINS 9
273300002951 - 3924582 ASIENTO DE VALVULA CUMMINS 6CTA8.3 3924582 - 4
273300003043 - 3921978 SOLENOIDE DE PARE 12V CUMMINS 6CT8.3 3921978 CUMMINS 1
- 77786 CILINDRO AMORTIGUADOR - - 2
- 77245 JUNTA - - 5
- 77243 SET.RING 3802110 CUMMINS 1
- 77246 SET.RING 3%02150 CUMMINS 1
- 77248 MATERIAL DE CONSULTA - - 1
- 77247 PALETA VENTILADOR - - 7
273300008586 - 90711006 BUZZER 90711006 B 21
- 77767 EJE DE TRANSMISION 90022411R - 1
- 77365 MATERIAL DE CONSULTA 1212400000 | WEIDMULLER 1
- 77670 RODAMIENTO 6210-2Z TIMKEN 2
- 77361 RULEMAN 6308-2RS1 SKF 6
- 77362 MANGUERA ARMADA FC332-04 AEROQUIP 1
- 77360 MATERIAL A CONSULTAR - - 1
- 77359 MATERIAL A CONSULTAR - - 1
273300002732 - KIT MAYOR BOMBA DE AGUA 3801712 CUMMINS 2
- 77249 MATERIAL A CONSULTAR - - 1
273300007846 - 6203-2RS1 RODAMIENTO SKF (R/FESTOON=RUE2273/PAC+RUE2752/MHI-IMP) 6203-2RS1 SKF 4
273300008354 - 4026171 JUNTA BOMBA COMB. CUMMINS REEMPLAZA AL 4026171 CUMMINS 12
273300008560 - 53565896 SWITCH 53565896 OTTAWA 12
273300321741 - ENG-CUMMINS -QSM 11-402512000-JGO. COJIN. BDA. M1 402512000 CUMMINS 15
273300006368 - AR12719 KIT CABEZA COMPRESOR CUMMINS 6CTA - - 1
273300301671 - CAPERUZA MOTOR DEUTZ F4L.912 SERIE 8557670 EX - - 4
- 77370 JUNTA - - 1
- 77371 JUNTA - - 1
- 77367 SELLO DE VALVULA - CUMMINS 9
- 77369 TRAVA ESCAPAMENTO - CUMMINS 12
273300322029 - INYECTORES 13763 - 6
- 77774 FARO REDONDO C/RETROREFLECTOR, UNIPOLAR, NARANJA - BAIML 1
273300322430 - ENG-CUMMINS -NTA 855G3- PART NUMBER 205451 - NTA 855G3 CUMMINS 3
273300321737 - ENG-CUMMINS -QSM 11-301676000-COJINETE BIELA 301676000 CUMMINS 1
- 77374 RULEMAN 30313 SKF 4




- 77376 OIL SEAL 3803894 CUMMINS 1
273300002947 - 3914017 JUNTA CARTER CUMMINS 6CTA 3914017 CUMMINS 1
- 77383 JUNTA - - 2
273300306065 - 3065944 TORNILLO DE VALVULA DE COMBUSTIBLE QSM11 3065944 CUMMINS 4
- 77240 CORREA POLIV 2330K6 | HUTCHINSON 1
- 77384 JUNTA - CUMMINS 1
- 77387 JUNTAS VARIAS - - 1
- 77386 KIT REPARACION CUMMINS - CUMMINS 1
273300306063 - 3034451 CUERPO DE ACTUADOR DE VALVULA DE 3034451 CUMMINS 1
273300003563 - 109080 O'RING WATER THERMOSTAT OUTLET CUMMINS 109080 CUMMINS 6
273300302362 - 3034438 PIN, GROOVE 3034438 CUMMINS 3
273300301756 - 129768 SPRING VALVE CUMMINS QSX15G7 - - 2
273300301517 - 923828.0867 SENSOR PRESSURE KALMAR QSM11 9238280867 | CUMMINS 1
273300003564 - 3058653 O'RING ROCKER LEVER SHAFT PLUG CUMMINS 3058653 CUMMINS 3
273300007805 - 923636.0639 BEARING 3202BX 9236660639 - 3
273300305082 - 3968466 BULON DE MOTOR DE ARRANQUE CUMMINS 6CTAS8. 3968466 CUMMINS 7
273300305690 - RESPIRADERO DE CARTER 255180S | FLEETGUARD 1
- 77724 LM104911 RODAMIENTO Y CUBETA TIMKEN LM104911 TIMKEN 1
273300301516 - 923828.0866 SENSOR TEMPERATURE KALMAR QSM11 4921477 CUMMINS 2
273300306057 - 3400884 POLEA TENSORA CUMMINS QSM11 (ALTERNADOR) 3400884 CUMMINS 1
- 77392 JUNTA DE TAPA DE ENFRIADOR DE ACEITE 306072 CUMMINS 1
- 77393 KIT O RING - - 1
273300305274 - 3353110 ELBOW, MALE ADAPTER 3353110 CUMMINS 3
273300002722 - 3862622 SCREW CAP CUMMINS NTA855-3 BUL12X1X120 - CUMMINS 12
- 77391 JUNTA - - 2
- 77390 SOLENOIDE DE BOMBA 3991624 CUMMINS 1
273300004407 - DM527-C KIT REPARACION TOTAL VALVULA RELAY DE 2 DM527-C TRILER 7
- 77389 TUBO DE ACEITE DE FRENOS - - 1




